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1. Answer the following questions (any ten) :
1x10=10

Wﬁmm%mﬁm(ﬁmwﬁ):

(a) Define ordinal utility.
THRIF SARIBrSR et Tt |

(b) What is mixed economy?

i wAifs 59

(c) What is scarcity?
TRApel 59
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(d) What is income effect?

w Retre g & ge?

(e) What is composite demand?

@frs oifam 2

() State the law of demand.
sifew RfYH Sy F90|

(g9 Define market.
G AR A |

(h) State one assumption of the law of
supply.
e RRY <6t 56 I SfSgEe Bt

(i) What is production function?
e T 52

() Mention one cause of diseconomies of
large scale production.

Fz¢ T@ TR SRSYRS @Bt Fiae forai |

(k) What is explicit cost?
azifire a7

() Can two indifference curves cut each
other?
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(m) What is variable cost?

AR IR 59
(n) Mention one assumption of perfect
competition.

54 eifocifrer b1 wfeyrel S o |

(0) What is marginal rate of substitution?

Ao Afsssrer 27 /9

(p) What is cost function?
W T A 69

(@ Define consumer’s surplus.

(SIE Oge 3 IR Tkw fmn |
2. Answer any five of the following questions :
2x5=10

wors il enpiges R e stobr Swe fora

(@) Write two characteristics of socialist
economy.
e wgifes ot w@RiEy fora |

(b) State two determinants of demand.
sifewi 9ot e Swe |

(c) What is income elasticity of demand?
SIRAR Wiy feferierel St Re o

(d) What is fixed cost?
w59
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(h)

i)

0)

(4 )

What is minimum support price?

Pow LS A &5?

Write two characteristics of a centrally
planned economy.

FaTei ciReire dNfe 9B 7o [FE
feralt |

What do you mean by price rationing?
Price rationing Jferte & e ?
What is isocost line?

T-BeAMH I @A 2

What do you mean by shift in supply
curve?

Q@M @I =T ARTE ot [ @2

What is long-run cost function?

TP T T 62

3. Answer any four of the following questions :

5x4=20

ool aRd R il oifRbe Teq forat

(@)

(b)
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Explain budget line with the help of a
diagram.

foaq RS IEG @LeiE = F4t |

Distinguish between market price and
normal price.

o 7 oIF W 791 o orgeat |
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(c) Discuss the factors affecting price
elasticity of demand.

e v Rfsgeeet iR IR
SIS 4 |

(d) Distinguish between monetary cost and
real cost.

TWITS IF WF 4PS I A1 @Y |

(¢ Why does the demand curve slope
downward towards the right?

i @eE @i Reg faman®t =192

(f) Explain the factors affecting shift in the
supply curve.

@M @ RIS gl Rl T
SAMITPTZ SO 359 |

(g) Explain the assumptions of indifference
curve analysis briefly.

e @t Reywem wfSqRaR oRe
S P4 |

(h) Explain short-run equilibrium of a
firm wunder perfect competition with
abnormal profit.

of aforifrer wEsfe JPR AfSd 3=
ZIIA SIS WiF TEeie aey REm
AN 4T |
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4. Answer any four of the following questions :
10x4=40
oo fral eprTR R i sifReR S forat

(a) State and explain the law of demand
with the help of a diagram.

it RIEG ot @i oag =@t il +4t

(b) Explain the law of variable proportion
with the help of a diagram.

A ENe Sete R Baa ="t it F41 |

(c) Explain diagramatically the law of
diminishing marginal utility. What are
its assumptions? 7+3=10
TP Aifee Thwifrel Rt g =
TR P91 T GRNER R R

(d) What do you mean by diseconomies
of large scale production? Explain its

causes. 2+8=10
IR TR T Sfvepiel et 5 gm0
RN PR G 3] |

() What is least cost combination of
inputs? Discuss how least cost combi-
nation of inputs is attained with the
help of isoquants and isocost lines.

2+8=10
TS AEPTR AL B9 ST @ Wi
TR @R RIS A ey appeg
A AC FA 2H, A T4 |
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(/) What are the characteristics of perfectly
competitive market? Explain long-run
equilibrium of a firm under perfect
competition. 4+6=10

™ ofewifenre wra whiEpmz &2
o9 efswirenee @ AdedE s
E I 9

(9) Explain the properties of indifference
curve.

Frere @ whiepnz T w4

(h) Discuss the long-run industry supply
curve under perfect competition.

*f afewifirer g AdPE @ @
A 47 |

* K &
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